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SECTION-1|HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS
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(B) Wit
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(A) S
(B) Swar
(C) frvam

(D) S

Fr=fofad 4 & @9 w1 v G 98 &7
(A) e
(B) @fe
(C) &d

(D) 9o

frfoaRaa % 9 9 a1 o aga wE &7
(A) <fa
(B) 3ER
(C) 3t

(D) @
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Q9 ¥ ¥ faeRvr wearel W B HRI AT 8-
(A) ey
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(A) T
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(D) AT 1 qgga A qfed’ w9 AYgG B
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(A) SuHT
(B) wUD
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(D) I3En
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(A) 39T
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(A) agdifz
(B) FHuRY
(C) agsy
(D) qasd
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Q26 ‘IFTHY H BF—ar wH 87
(A) TIHY
(B) TEAfe
(C) TRy
(D) et
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(A) 7=y + Sfa
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(C) 7o + Sfea
(D) 3T + A
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(D) fagar + ameft

P-KS-1 9 SERIES-AG




Q29 % @1 wd wi-fRw 8-
(A) it + s
®) 71 + faw
©) N+
(D) 9 + Infa®
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(A) @ + 3@ + B8R
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Frafafaa § A gg a9 1 99T PRIg-

(A) W B TR ¥ R e IHST WA 991 gUH & |
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(D) SR BF IR & YT W WHT Wil |
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(A) 3y @8 7 31|
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(C) =T 81 |
(D) 9UaY G §E &+ |

Sl I 98 TAR’ @i BT IuEd e B

(A) H&He | g B
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(A) FEY a¥g DT T BN aTAl

(B) 3uyga WE & areln

(C) 9gd If& yga aren

(D) 99 @1 g¥H1

‘sl fagr @i &1 Suga et 8-
(A) ORI ¥g @A 1

(B) &= F1H B GaDHT AT

(C) g fBurm

(D) ®F &1 Fear &1
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e BT @1 Suga e 8-
(A) 9Rf 3R &= BT
B) & AR &1 7w

(C) T oX% &4 o
(D) dad HUX @I

¢ Y Wit e N AR @ Iugad i -
(A) UH—gE W AT

(B) 3 WP B

(C) 3T B TR # ST

(D) gfem % &7

"HIE I BT 9 9T S 1 Suge aef 8-
(A) 3@ &3 @1

(B) Sha= # Rexar &1 amma

(C) & T HeH

(D) WUaR & frg g8t a8l g

o w1 e -
(A) 3
(B) Wi
(C) W
D) Ig=
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Q49 W = & facim 2-
(A) @wH
(B) w99
(C) fawm

(D) »uH

Q50 & W o faem B-
(A) gD
(B) Ier®
(C) faa®
(D) Weli®

Q51 W wiw &1 fadm 8-
(A) fag@

(B) vq@
(C) ured

(D) e

Q52 ‘Twm W= 1 fwm 8-
(A) ImarT®
(B) WS
(C) #ran

(D) agrEaTn
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Iga’ v B faem 8-
(A) fafaa

(B) 3=

(C) uRfee=

(D) 3rgd

frefafaa #§ & @9—a1 v - &1 gaiga 58 87
(A) e
B) *rm
(C) ams
(D) 3

frafafaa ¥ § F-w o= < &1 yafgard w8 87
(A) iy
®) Ay
© =

(D) =r|

frefafea # & o1 e ‘Fua’ F1 ygfgard T8 82
(A) T&
(B) &

(C) fagor
(D) wdor
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Q57
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frafafea 3§ & F9-—w v vl @1 vataard w4 8?2
(A) few
B) @7
(C) uweh
(D) fasw

frafafen § & IF-w v= T &1 wafgarE T8 &2
(A) gfe
B) <R
(C) T

D) g

frfafe #§ & #9—war v fier @1 yafaash 22
(A) Fe
(B) TWGER

(C) ITHER

®) wfr

frfafe % & -1 v ‘g’ o1 e T8 82
(A) &
(B) wWAH

(C) o

(D) I=w
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SECTION-2| GENERALAPTITUDE TEST |30 QUESTIONS

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal,
Seminar,

Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

(©) 19

(D) 45

P-KS-1
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Q61 U we fRy v € ot & ar 5l

WE 9§ (@ o # 3R 0P T B
A BT YT BN |

(Eie), Srefvavn

(A) s

(B) 3nige

(C) W (HTed)

(D) i

5l $aa woie A 100 AT T wEET
fr wifs o war o W 5 I @
frm gad ok dge wew MY ) 31
T Had 3T &, 26 TR 4GS T A 3R
12 @rr T et § g o) 3 Al B
WO T B, W A A gag iR A f
LU RND]

(A) 12

(B) 55

(©€) 19

(D) 45

SERIES-AG



Q63

Q64

A survey of 500 TV viewers produced the
following information.

285 viewers watch football games, 195
viewers watch hockey games, 115 viewers
watch basketball game, 45 viewers watch
football and basketball games, 70 viewers
watch football and hockey games, 50
viewers watch hockey and basketball
games, and 50 viewers do not watch any
of three games. How many viewers watch
exactly one of the three games?

(A) 440

(B) 365

(C) 205

(D) 325

In an airline, hot drinks and iced tea were
served to 120 passengers. 75 passengers
enjoyed hot drinks and 62 enjoyed iced
tea. If 40 enjoyed both, then how many
passengers enjoyed none of the beverages?
(A) 15
(B) 12
(C) 23
(D) 25

P-KS-1
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& 2@ T 500 I¥et @ 99 gv
wdeor ¥ Frafoafea s wra g2 |
285 T wedia W @ €, 195 gde
Bl @ 3@ & 115 goie aRdedia
Wt < & 45 79 Gedla 3R ardedi
g T@d € 70 <¥@ Gedld iR g
W 2@ & 50, ¥ e AR andedta
e <@ 8, 3R 50 a3 BiE A A |
T G 76 @ ¥ ) b aefe @
el A 4 5 v @ @ o dma @
&

(A) 440

(B) 365

(C) 205

(D) 325

U Tavcrg 4, 120 a3t ) gfe fFa
3R amgw & W Y| 75 WA A g
fgavs @1 amia forar afiv 62 91 amgw &
@1 Ie foran | afd 40 3 <FT &1 aeg
feran, o fFam @3l 2 97 gewil 3 |
fadt &1 o s w1t foram?

(A) 15

(B) 12

(©) 23

(D) 25
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Select the option that is related to the third
word in the same manner as the second
word is related to the first word.

STATUE : SIZE :: SONG : ?

(A) POETRY

(B) WORDS

(C) SINGER

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like
vanilla and chocolate, 11 like chocolate
and strawberry, 12 like strawberry and
vanilla, and 5 like all the three flavours.
How many candidates like chocolate and
strawberry but not vanilla?

(A) 24

(B) 10

(C) 32

(D) 6
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o9 fawey &1 98 R o R TR ¥
I yHR wadd & g yor gav 1=
Ugd v W walRd B

gfemn : JHR = A 7

(A) ®faar

(B) =

(C) TaH

(D) g7

100 3rgfRiaf @ wdaor | ImgEHH
TAR—afen, divce R R A sTH
e & Way ¥ ol smer g
N T

50 arafefat = e dwg &, 43 A didoe
g PN, 28 A WEAN TEe B, 13 3,
e iR diwae @ gHg R 119
Hidore 3R LAY THg A, 127 G
3R Afrer &1 gHe A sk 5 7 Wi
AT e g fry | O e aneredf &
g dieae v wRd o wiE @

afd afven #1 o el fHar?
(A) 24
(B) 10
(©) 32
(D) 6
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In a certain language, WOMEN is written
as OWMNE. How will NOTES be
written as in that code language?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST
(B) MUST
(C) LUST
(D) HUSK

In a certain code language, MOBILITY
is coded as 46293927. How will
EXAMINATION be coded as in that
code language?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034

P-KS-1
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Q67
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& @ MRga s 4, WOMEN &t
OWMNE & w9 # forar war 2| st
H1S AT § NOTES &1 5w yar foran
SITQT?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

fe fif¥aa o wmr 3§, SKEW &
POCY @& &Y ¥ forar war 2| S o1
HE A JYQV B ATHY BN R
forar smem?

(A) JUST

(B) MUST

(C) LUST

(D) HUSK

fdh Ff¥aa @re s §, MOBILITY &t
46293927 & ®Y ¥ Fewia fBar mar
21 Sl Fie W1 B AFLEY
EXAMINATION &\ #& qiewiie fasar
WGT?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q70 In a certain code language, GRASP is

Q71

Q72

written as INOPQ and BROWN s
written as RNSTU. How will
SPARROW be written as in that code
language?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

In a certain code language, ‘1 2 3’ means
‘hot filtered coffee’, *3 5 6" means ‘very
hot day’ and *5 8 9’ means ‘day and
night’. How will ‘very’ be coded as in that
code language?

(A) 6

(B) 7

<1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1
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Q70 f fAf¥wa @re wmr 4 GRASP &1

Q71

Q72
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INOPQ 3R BROWN &I RNSTU @& %Y
# for@n a1 8 | SPARROW @1 9%t @18
wre1 # frw yar ferar smgm?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

foel A ge &, *123 Frapf &
Bfe e DIl 3 56° T anf 8 A9
gle ¥ 3R ‘589 # i 7 3 TS
g’ | SH dre Wt A B DR
HifEa fdar smem?

(A) 6

(B) 7

(€)1

(D) 2

I W &1 9aq B, O R Ry g
e B e BT IUGNT I AR D
g o1 HHar 87 el IR g9 e #
&Y BT SYANT B3I B

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
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If the word NUPKIPM is unscrambled,
then the name of a fruit/vegetable is formed.
What is the last letter of the word so
formed?

(A) K

(B) U

(C) N

(D) M

Each of the letters below has been
assigned a unique number. Select the
combination of numbers such that the
corresponding letters when arranged
accordingly will form a meaningful word.
CELSMU

34567 8

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

Form a meaningful word with the first,
fourth, seventh and eleventh letters of the
word ‘SUPERFLUOUS’. What is the first
letter of that word?

(A) U

(B) L

C)p

(D) R

P-KS-1
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Q73

Q74

Q75

afd NUPKIPM & &) YoAsiran ir 8,
a1 & vt /wesll &1 AW g=ar & | 99
= &1 M sER Fur &2

(A) K

(B) U

(C) N

(D) M

T R 17 v 3w @ fog U@ s
e Pfde # 1 8| el @ wdeE
&1 949 §H TBR B [ JTHY T B
wgafter far ST, o aEgER U aRie
I §9 Y |

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(6) 6,8,574,3

(D) 7,8,6,3,5,4

‘SUPERFLUOUS’ ¥1& & Ugcdl, dR), HRid
3R TaREd Rl ¥ s anfe ve-wu
T | TH UK B USAT e AT &?
(A) U

(B) L

€ P

(D) R
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Select the second, fifth, tenth and twelfth
letters of the word ‘METROPOLITAN’
to form meaningful word(s).

Ifonly one word can be formed, then select
the third letter of that word as the answer.
If more than one word can be formed, then
select M as the answer. If no such word
can be formed, then select X as the answer.
(A) O

(B) P

C)M

(D) X

Select the number that can replace the (?)
in the following series.

22,33, 66, 88, ?

(A) 84

B) 97

(C) 115

(D) 165

P-KS-1
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Q76 wiefd  wrem

a4 & fav
‘METROPOLITAN' 91 & &R, Ufed,
THd IR arEd Rt B 9uE WY
afe Padt v@ v 7 wHan &, o) IR
B W0 4 39 v B AR e B g9
W | A UF | e wew o waa & o
IR @ w9 4 M g | ot @
g T8 g HHaT &, AW IR D HUA X
& g |

(A) O

(B) P

(C) M

(D) X

PrtferfRae s # (2) @t wre wienfia
Bl 6P ATl WA BT TG Y|

22, 33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165
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Q78 Select the number that can replace the (?)

Q79

Q80

in the following series.
2,20,74,110, ?
(A) 152

(B) 182

(C) 190

(D) 210

Select the number that can replace the (?)
in the following series.
2,7,14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

Select the letter-cluster that can replace
the (?) in the following series.
KPA,LQB,MRC,NSD,?

(A) OTE

(B) PER

C)LTQ

(D) MOL

P-KS-1
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Q78

Q79

Q80

el sjaen % (2) @ o aftwenfia
B HH aTell WA BT TG |
2,20, 74,110, ?

(A) 152

(B) 182

(C) 190

(D) 210

e sjee # () 9 ors wftrenfia
B WS qTell WA BT 94T B
2,7,14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

frafefaa sfaar 3 (2) @ wirenfia

F AT IER—FYE BT qGT B |
KPA,LQB,MRC,NSD,?
(A) OTE
(B) PER
©LTQ
(D) MOL
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Q81

Q82

Four numbers have been given, out of
which three are alike in some manner and
one is different. Select the number that is
different from the rest.

720, 120,24,8,2,1, 1

(A) 24

(B) 8

(C) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:

The National Skill Development Committee
conducted an assessment among their
trainers and found the performance below

mandatory level.

Conclusions:

I.  The committee should immediately
organise remedial courses and training
to improve standards.

II. The committee should terminate poor
performers and hire new trainers.

(A) Only conclusion | follows.

(B) Only conclusion II follows.

(C) Both conclusions I and II follow.

(D) Eitherconclusion I or Il follows.

P-KS-1
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Q81

Q82

13293371

R we] @ 7 & R @ &9 e
TWE W @S 9N € AR ua = 8 Sw
T B wET BN )t A A R
720, 120,24, 8,2, 1, 1

(A) 24

(B) 8

©) 2

(D) 120

fav 77 P 3R Frepet @) 2= | 92
AR T W P S T W PE W
frad aifde wv ¥ 39 @@ /@R
®l

Y-

I Preret s wfafy 3 oo wikwrmt
@ 99 1@ Indad o AR BT ik
IS YeEH B Afard wrR | A grn)

forsm:

1. afify @ wmet § wuem @ g
. u PuRITS gragsE AR wikEer
BT I e AR

1. wfAfe ® @vE y2em &A gl 31
&2l 21 ARy 3R U wfwret ot
X o Tifey |

(A) daa frepd | da @ &)

(B) dacr fepd 11 %t @rmer §1

(©) s 13l 11 1 W @y &)

(D) T a fsmy [ [ 3 @rar & |
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Q83 Read the given paragraph carefully and

decide which of the conclusions given in
the options logically follows from the
paragraph.
Alarming level of pesticide and insecticide
residue is found in fruits and vegetables
sold in the market, causing public unrest.
The reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced to
use more harmful chemicals to exterminate
them. The government, is however,
planning to ban the use of some harmful
chemicals as they cause health issue, thus
breaking this vicious circle.

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time,

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.

P-KS-1
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Q83 faw v uRede &r s W v iR ag &

53371

1

& Rat # 4 $9 a1 s 5w R
W aifdd w9 ¥ A @ |
PN AR FAAID ST Bl GRS
R AR ¥ et e el ahe wfrat
¥ fear 2 e @t F sria @
A1t &1 @ | e wad A e o
& fore 9w % v TR BemT
B ITANT P B AU AR B F)
e, RO TG q1E, I § IqH B
wforféra (rmem) o o & sl gwfere
fraAl @ 9% T F @ g afe
@RS gl &1 S9an A 3 forg
T BT gSaT | BTdifd, VAR 36
YOR B gD P A @ foy BB
gifieR® Al @ IggiT Uy
wfcrder @ @Y Ao 94 Y@ & wifh
4l
(A) 396 T8 o W waell Tl o
A B forY, AR HHe B
¥ & forg framt o e @
WANT HAT AIMEY |
B) freF WEE @ ga W) e
33 g T & Rorew o ww F A
dqcl Brel 1 e gan @, afew
- SR At & uiy itk s
N el o ot 8
(C) R w4l VRS St ok
et AR 5 N voR & v
YAt WR wforEer o o vl & |
D) frarm e Feavs @
e & favg wee & &

LT &1 98 B |
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Q84 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement,

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:

I.  The police officer should try to
investigate the matter and catch the
MP red-handed.

II.  The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion I follows.

(C) Both conclusions I and I follow.

(D) Neither conclusion I nor Il follows.

P-KS-1
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Q84 Ry v T 3N Fspd @ = | ug

AR fiftag =X & o9 W fepd o9
FUH § afed WY 9 A @i § I1 @i
g

DY

E gferw aftert @ Rema fiadh 8
f& sua i &1 & |ibg 9 I
Ham B fog Reaa o e 8

foread:

L gfer e o1 A @t g
AR wEg @ W@ ErRi uwed
- PIR S ARy |

1. gferw st o 78 iR R
T §AR ST AfRy SR U wieg
B I B gHe ARy |

(A) Baat frepd | e @mar 21

(B) daet freny 11 ¥t @ & |

(€) Frepd 1 3R 11 31 ¥ @ €1

(D) =1 o Freed 14 11 % @ 8
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Q85 Read the given paragraph carefully and

answer the following question.
Soil erosion is a naturally occurring
process that affects all land forms. It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion
reduces cropland productivity and causes
the pollution of watercourses, weltlands
and lakes.

Which of the following options does NOT

show steps taken to prevent soil erosion?

(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung

P-KS-1
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Q85 Ry My IgwT N WEES ¢ AR

Frfofea w7 &1 sar €|

H-&RV UF WIS ®9 | 8F ael

uftear 8 ot Wit 4 & sl @1 wfaa

sl 81 78 uA 3R B B upfow

Wifte adlf g7 @ &3 A Sud Af @

Fe@ B T &1 W Hwd S, o

Ffie yerl, Sdvar iR A & e

& foy g it 8, waal @ gia A

W@ WU ¥ Qe Q2| e |

Rl A Iasar a0 af 8 3k

O Te—warg, AmfA el et ¥ wggor

g B

frfofe & @ o9 W {ee g-avu

Bl I B forg 9o T Fed A TE

fRamar &7

(A) v Frorit @ oy wgfia Tt &1
YA |

(B) e ST &7 ST |

(C) M—&RvT A g & Agfaa
sl oA aftare ar FR &
squarht ggfar &1 aRom 2

(D) JERIT & 4 DY G FeETD

- amaver e @ iR oI ware @

Tfy &t Bkl 8, WifS o A w
agar & oy st avfore
1 AU R W ol ¥
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Q86 Read the given paragraph carefully and

decide which of the conclusions given in
the options logivally follows from the
paragraph.
Ina TV show, a famous nutritionist said
that among different items offered for
breakfast, muesli has more nutritional value
than regular cereals. He also said that
oatmeal is healtheir than bread. But a
recent commercial of a cereal company
says that cereals like cornflakes are richer
in nutrition than plain muesli. The
consumers are posting severe criticism on
social media and on the company website
about the misinformation in the
advertisement.

(A) The nutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company.

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was
unintentional.

(D) Social media sites are increasingly
becoming popular among customers

as complaint portals.

P-KS-1
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Q86 fav 7y yRedT &) = | v aifv ag

N & Recl 4 § 19 o frad gw
wRese ¥ @iffe ©9 F #a @ 2|
@ ad o ¥ ve ufig umu fag
(fafe) 3 we f& T @ fog oo
@ WM aren Rffw e A awgei
el ¥ WO 3 @ ger § aifte
qor grar 81 S gs N sE b
gferar A8 A gam # wrenads
A &1er & ¥ U 3 U @ s
&1 el ¢ fb e (@) S
3= IR FeA B g § T § wgg
2| RewT § @ € Taa o B
AR IyaE wee WA ek sy
! AGEZET W B ATATGT PY &R |
(A) 9o Rg F SeggaR 9w feudh
® IS DI B RaAE TERITE
CWEAT SO B @ fag Are fRar
21
B) W g aga € fvawda € ek
RT3 B B WG STD BEN
T$ gl W R B # |
(C) 3 B 7 (& YR UM B MR
W fasmu= fasar on iR 7% Toa
[oAT A—gRredT o |
(D) wrwrel Wf&ar wgew TED @ 9=
frera Oda @ v § aoft 9@
- el B @ E)
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Q87

Q88

Five colours have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow

(A) Orange

(B) Pink

(C) Green

(D) Yellow

Five subjects have been given, out of which
four are alike in some manner and one is
different.

Select the odd one

Physics, Chemistry, Geography, Botany,
Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography

P-KS-1

LLIEE

31

Q87

Q88

uia 91 Ry g 8, R & ar B ave
d 3 W ¥ 3R vw @ #)

= a1 &1 gE B

(A) A

(B) T

(€) &

(D) drem

urg favy Ry v & R & ar fi
avE ¥ waE & R S 3T § )

A F1 99T P

e fasm

(A) Tfa s
(B) ™A s
(C) o Rsm=
(D) *pived
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Q89

Q90

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1

LLEELBZL

Q89 tufm = Ry 7y & frFmi ¥ W R

e A 1 oW & R ua e R
=1 o @1 Tg )

A) 31

®) fwad

(C) &

©) ¥

i v Ry ay & Rt @ ax e
TE 9 & 99 ¥ iR 1 s B
e BT AT Y|

freid e

(A) IR ey (edee)

B) fed ferg

(C) o

D) @ wgH
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Q91

Q92

SECTION-3 | GENERAL KNOWLEDGE | 40 QUESTIONS

The special power of the Rajya Sabha to
empower the Parliament to make laws in
respect of any matter enumerated in the
State List by adopting a resolution to this
effect is given in Article of the
constitution.

(A) 128

(B) 198

(C) 223

(D) 249

Department-related Standing Commiittees
were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991

(B) 1993

(C) 1999

(D) 2000

P-KS-1
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Q91 g v & R w39 s &1

EESICEE EEIC G I
i Rmmw g P aw ww
o whe B R A & wew A
S g1 & Ay HEE B weE &
P |

(A) 128

(B) 198

(6)223

(D) 249

Q92 oz WoR @ A= waeal /e &

M B it B B g v | wafa
ol i d e dA@
¢ & If e D 9 R A TS
1 3R woga far o 6@ |
(A) 1991
(B.) 1993
(C) 1999
(D) 2000
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Q93

Q94

Q95

How many states with Fifth Schedule Areas
are covered under the Provisions of the
Panchayats (Extension to the Scheduled
Areas) Act, 1996?

(A) 7

(B) 9

(C) 10

(D) 13

Under the provisions of Article

a joint sitting of the Lok Sabha and the
Rajya Sabha can be called by the
President.

(A) 93

(B) 105

(C) 108

(D) 116

In the event of a tie while voting in the Lok
Sabha, the has the casting vote.
(A) Prime Minister

(B) Speaker

(C) President

(D) Vice President

P-KS-1
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Q93

Q94

Q95

died g &l (fewer Ry o)
ard e v, varal (s A
o favwge) @ walda afdfam, 1996 3
T8 3T 87

(A) 7

(B) 9

(C) 10

(D) 13

IFVE D Ut b g dimen
3N oA B WY do5 B Uy
TART G I | |

(A) 93

(B) 105

(C) 108

(D) 116

Bl H WA NG GHG T @
Rafy s, @ o 9 s1om &
Ffrdr B 8

(A) 9o H3A)

(B) wiav

(C) wgufa

(D) Suvrafa
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Q96 Which state in India has a city nearestto 3 Q96 WRa @ 5w ww # vRG ¥ T @

Q97

Q98

Q99

the Tropic of Cancer in India?
(A) Mizoram

(B) Madhya Pradesh

(C) Tripura

(D) Chhattisgarh

Identify the neighbouring nation with which
India shares the longest boundary.

(A) Nepal

(B) China

(C) Myanmar

(D) Bangladesh

The Indian peninsular extends in to the

(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas

(D) Bay of Bengal

Which of the following is the world’s
largest gorge?

(A) Copper Canyon

(B) ColcaCanyon

(C) Fish River Canyon

(D) The Grand Canyon
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Q97

Q98

Q99

G aife dww) @ Af wiowr
N 27

(A)ﬁvﬁm

(B) #eg Ha

(C) g
(D) BNTS

T USRI W B g N ored
ARG AT FaH T HaT s R 8
(A) AT

B) ¥

(©) FIR

(D) ey

AR YEga _ d@ Bar g
2l

(A) 3RE VIR

(B) fég werrR

(C) fewrerm

(D) 9T B GrEl

frmferaa # & gfar & waw a1 ad
B W &

(A) DR DU

(B) rewt B

(C) fvwr Saw d==

D) & = ==
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Q100 Which of the following is the world’s largest Q100 fr=ifafad # & @14, gfrar & wad 99

river island? T-gdy 8?7
(A) Divarlsland - Goa (A) fRar géy — ar
(B) Quibble Island - Tamil Nadu (B) @ftaet v — affierrg
(C) Munroe Island - Kerala (C) ¥ gfiu — BWa
(D) Majuli- Assam (D) qﬁa—é] — 3H
Q101 ____ thecalligrapher of the Taj Mahal, Q101 TNEd & gorad (Bfermey)
built and completed it in 1648 A.D. 3, 1648 FHA ¥ g Tg B 3R R
(A) Gyasuddin fapar |
(B) Al-Bukhaari (A) TaTgEE
(C) Amanat Khan Shirazi (B) 3@_3@73
(D) Muhammad Abduh (C) Ima @ RRIEh
(D) §&¥i3 3reqe

2552380

Q102 The freedom fighters Bhagat Singh, ' Q102 waFar vfAal wra R, ¥@eq 3R

Sukhdev and Rajguru were hanged to IE B # B B
gesiy. . % ol &1 T oy
(A) 1929 (A) 1929
(B) 1931 (B) 1931
(C) 1934 (C) 1934
(D) 1939 (D) 1939

Q103 In ____, the British Government Q103 ¥ faftw wwor A 9rg i
announced certain reforms in the structure AYHR D) AT H EA:) ﬁuﬂ‘f EAR L LI
of the Government in India, which were ¥ g Wid-ffe IR & ®Y § T
known as the Morley-Minto Reforms. ST or |
(A) 1903 (A) 1903
(B) 1909 (B) 1909
(€) 1912 (C) 1912
(D) 1939 (D) 1939
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Q104 Udyog Bandhu is an IS/ISO 9001:2008 Q104 I ¥ @aE ®fT Y B IR |

certified _______tier body of the & I 9, IR YU AR 31 1S/ISO
Government of Uttar Pradesh for the é 9001:2008 wHIfdr wRA
purpose of setting up of businesses in the e & oik a8 W sigafres argHieHT
state and covers all industrial approvals. @1 wifdd &var g

(A) one (A) T®

(B) two (B) &1

(C) three (C) &

(D) four (D) IR

Q105 Uttar Pradeshranks ______intermsof Q105 #Ra & wiveaar frafa @ gfie & S&r
software exports from India. WY WFH W2
(A) first (A) v&e
(B) second (B) TN
(C) third (C) dm
(D) fourth (D) )

Q106 Uttar Pradeshranked ____intermsof Q106 a¥ 2018 % ¥sa &1 YRT XA A BT
domestic tourists visiting the state in the el @ AMe A 9w W_Y
year 2018. I W B
(A) first (A) WoH
(B) second (B) TN
(C) third (C) R
(D) fourth (D) e
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Q107 The city of in the state of Uttar Q107 SR Wa¥ Wy # Y Giad @

Pradesh is famous for brassware Toi 3R sy @ frg ufteg 2
manufacturing. (A) HERAQR

(A) Saharanpur (B) FuEmEE

(B) Moradabad (C) 3FrT

(C) Agra (D) d@ETSH

(D) Lucknow

Q108 In which year was the Banaras Hindu Q108 #vv f2g Rvafaqaey fvw af wnfla

University established? f&ar Tar o
(A) 1902 (A) 1902
(B) 1910 (B) 1910
(C) 1916 : (C) 1916
(D) 1921 (D) 1921

Q109 Which of the following was the most Q109 2011 F TTVFT F IR, TR HIT

literate district of Uttar Pradesh as per the o1 Walf® WRR W\ g F—ar ur?
Census 0of 20117 (A) miSramare

(A) Ghaziabad (B) #FYR TR

(B) KanpurNagar (C) o@T%

(C) Lucknow (D) SiFgR

(D) Jaunpur
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Q110 Which district in Uttar Pradesh had the
highest per capita GDP for the year 20187
(A) Meerut

(B) Lucknow

(C) Gautam Budha Nagar

(D) Prayagraj (Allahabad)

08EZe5E L

Q111 Which of the following is the national
flower of Uttar Pradesh?
(A) Brahma Kamal
(B) Kandhal
(C) Rhododendrons

(D) Palash

Q112 Pradhan Mantri Kisan Samman Nidhi

(PM-KISAN) was launched in the year

2019 from in Uttar Pradesh.
(A) Lucknow
(B) Gorakhpur

'L (C) Prayagraj (Allahabad)
l (D) Varanasi

P-KS-1 39

Q110 SR wew @ frw foret # ad 2018 &

Qll11

forg ufty afda @ e e (GE)
waw e oar

(A) T

(B) @@

(C) 7w dg TR

(D) WATTRIS (gETETaTR)

IR we F Iy g et §
A DI 87

(A) sE FHA

(B) wfeerd (sifFiRan)

(C) Ve

(D) geimr

Q112 7% 2019 ¥ Sew w3w &, W w4 frae

o B (PM-KISAN) & 9
'g'\% forar mar |

(A) TETEH

(B) TRER

(C) VAP (STETTe)

(D) TR

SERIES-AG




Q113 *Dum Pukht’ is a popular process of

in Uttar Pradesh.
(A) preparing food
(B) stitching cloth
(C) sowing seeds
(D) carving wood

Q114 Which of the following is the ceremonial

tradition of laying the food items during
meals?

(A) Zardozi

(B) Chikankari

(C) Dastarkhwan

(D) Kharija

Q115 Which city in Uttar Pradesh is called the

‘ceramic city'?

(A) Lucknow

(B) Moradabad

(C) Prayagraj (Allahabad)
(D) Khurja

Qll6 , @ small town in Uttar Pradesh,

is known for its decorative red clay pottery.
(A) Bareilly

(B) Meerut

(C) Chunar

(D) Firozabad

P-KS-1
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Q113 gH Y& IarN Way ¥

e W
aafig wfiear &

(A) & T # ARy

B) Fus! g

(C) a1 A

(D) THE W Tawre

Q114 HISH @ WY @WIEF It 3 W 3

hqailes wwow Prefaled § & 2 &2
(A) W

®) faH

(C) TwwEH

(D) @i

Ql15 SR WY & fhy wew ) s Ry

HeT orar &7

(A) @S

(B) TR

(C) WM (gererans)
D) guif

Q116 IR YSY BT U BT YE,

AT T A B womad) adfEt @ fa
ST ST #

(A) a%h

(B) @

©) FR

(D) fremarE
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Q117 What is the other name of ‘Lucknow

Gharana’ - a style of dance and music?
(A) Uttar Gharana

(B) Nritya Gharana

(C) Yogya Gharana

(D) Purab Gharana

Q118 India ranked in coffee

production in the year 2017-2018.
(A) second

(B) fifth

(C) seventh

(D) ninth

Q119 Which country among the following is the

largest importer of Indian tea?
(A) USA

(B) Russia

(C) France

(D) Germany

P-KS-1
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Q117 7 3R Wia & a el | Hafw

@A GRET BT GE A a4 {7
(A) IR EET
(B) T w9
(C) ATg uvH=T
(D) T¥d =R

Q118 af 2017-2018 # PP Ieyrest H WR

¥ UY VT |
(A) TR

(B) urad

(C) wrad

(D) |

Q119 f=farfaa & & @9 61 <9 ROy 99

@1 WA 99T JATD 87
(A) 7UHEY (USA)

(B) ¥

(C) wiv

(D) W
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Q120 The first jute mill was established at Rishra, Q120 @ # PrAdET B U gl

on the river Hooghly near Kolkata in the T4 oY, R # vgell oje fier o wnfie
year : @ ¥ o)
(A) 1847 (A) 1847
| (B) 1855 (B) 1855
‘ (C) 1889 (C) 1889
(D) 1900 (D) 1900

Q121 Which of the following is regarded as Q121 YRMET &1 |4W TIT FUTAT AR

Asia’s largest spice market? fFeforRaa § & 59 5 wimar 22
(A) Khari baoli - New Delhi (A) @R Frael! — 7% el

(B) Bapu bazaar - Jaipur (B) 41g 919IR — WYX

(C) Lal darwaja market - Ahmedabad 2 (C) el TRATSI HIde — IEASEIG
(D) Koyambedu market - Chennai :; (D) PTG APHE — ATE

Q122 Which of the following companies is the Q122 fFr=fafad # & - F9h wRa &

title sponsor for India’s cricket team? fbae €W & forg snfereRe wrares &7
(A) Sahara (A) BT

(B) Vodoafone (B) dre®E

(C) Reliance (C) Ramw

(D) Paytm (D) EiH

Q123 Inwhich of the following countrieswasthe Q123 '@e€ gfeiw T8 wrR a+q’ 2019

“World Police and Fire Games’ 2019 held? frefofea 4 @ 5w Qo § smafom
(A) Russia farar wrar e
(B) China (A) ®¥
(C) Denmark (B) ¥
(D) Israel (C) AT ®
(D) =origd
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Q127 India ranks ____

Q124 Which of the following movies won the

66th National Award in 20197
(A) Hellaro

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala

Q125 When was the autumn equinox 2019?

(A) 23rd September
(B) 29th September
(C) 16th October
(D) 26th October

Q126 Who among the following has been

awarded the Vir Chakra in 2019?

(A) Col. Lalit Rai

(B) Havildar Chuni Lal

(C) Wg.Cdr. Abhinandan Varthaman

(D) Lt. Col. Yogesh Kumar Joshi

in the Global
Innovation Index 2019,

(A) 47th

(B) 52nd

(C) 5%th

(D) 63rd
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Q124 Fifafag # & fbw et 4 2019

66a1 ST QBN Sir?
(A) feamr
B) 0 & whiea wEs

(©) JEmg
(D) |vaT favan

Q125 sRer Ry (Wa-Ra aw@R) 2019 ¥

SoELy 3
(A) 23 faar
(B) 29 fday
(C) 16 Iacar
(D) 26 JaaR

Q126 2019, Ffofaa A & A IR o |

wenfae fasar mar 22

(A) &d ciferd v

(B) Bg@ER gl A

(C) fifr wwier AifFig aewm
(D) @iffesie @ia drre FAR S

Q127 "dad FHAYH FeTW 2019 ¥ WRG

WH W B
(A) 474
(B) 529
(C) 594
(D) 63d
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Q128 India ranks number in the list

of countries (and dependencies) by
population,

(A) one

(B) two

(C) three

(D) four

Q129 Which city of India ranked first in the

‘Swachh Survekshan National Ranking’
20197

(A) Bhopal

(B) Jamshedpur

(C) Indore

(D) Khargone

Q130 The Goods and Services Tax (GST) was

introduced in India on 1st July,
(A) 2014
(B) 2016
(C) 2017

(D) 2018

P-KS-1

Q128 T &I & IHR TR g9 (3 e
DN AT IS R
(A)

(B) =1
(C) aF
(D) IR

Q129 ¥Ra & fHd Y 3 W WAV A
BT 2019 ¥ vgerm wE urd fHar
(A) HaTe
(B) SHRIGYR
N O U

(D) @

Q130 Tx] Ud Ha1 &R (GST) ¥Ra ¥ | ST,
&1 g9 faar mar o)
(A) 2014
(B) 2016
(C) 2017

(D) 2018
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Read the following Instructions carefully :

fFrefafaa Fdat &) s @ e

L. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer onoe marked Is not liable

to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet, Do not write your Roll No., anywhere

else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care.
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

8. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scat

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as

an unfair means case,

8. Use of Pencil/Electronic/Manual Calculator is
prohibited

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission

10, After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate's copy to candidate, then only
candidate is allowed to leave the examination hall.

answer sheet,

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

Candidate is only allowed to take Candidate's copy of

X e R4

TS v @ fow Ru 7 an Rt 4 9
HEl I @ 0 3. 9. IR, IR THE W
»ad U3 Nl o1 # g ovE S a9 dfge
U ¥ W | U aR Iew sifba e o @
qg SN TEET A8 T Hpar ¥

wierll gifaa w¥ @ sw e @ A
7 WY U9 OF W B1E 3 e 3 @t |
emeff g sEwwe 9w uEe W
FeiRa wim & afaRea s=ra 7 foad

e gRaH d TR UEE @ AEgde
garT &, agiis el o aRRefy 4 @aa
qen gt 3 0 @ us @) e g
JRE®T U4 ST EE SUdE A8 Il
ST |

gdiem gRerer # & i van g @
& gl wd afe ¥ sufefy ve A
fored |

I8 OM W a@s g, s asrdeas @)
YT WAW uH fFan

SENEren AT B TS B A9y sy @
fer oY astenmelf sos wiF 9 818

ST B ITIES B Y] IR YHP f2U
@ ofemefl swemr wre 9@ B AR
feit udamedt & SuRufy w3 W swamR 48
fy & I wFn weT ) WY SR TEe
T8 ohern 2 iR 78 sfea wee &1 s
HIAT SATTT |

e /gt / swrafaa Reas &
SuanT afofa & |

g 8t A areRer 3 fae wdandt s @
Wil Pt vd R g fFafia &1 sqfa
oAl B ol wall @1 dwar i @
Frsl vd fafvml & agar g

10,9908 @ IY IR0l IO UHS BN IFTOD

@ er ¥ srades g anadf @ e
uES ® spaell ufty /g wfty wvara s
oY crenr forea Suwra € @ @) vied 9
IR @ S | SR gEe A1 anadd ufy
el Y AU W A W @ Sl R

n.98E @ gwia ydareff s e gRae

el Frliers @) dter el | ofar gReae
& pareff a9 wy 98 @ o wad T

]
|
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